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工程數學Midterm #2 Dec, 6 2022 

 

1. 5pt 

L{(a − bt)2 },   

a and b are constant   

7. 10pt 

𝑦" + 2𝑦′ − 3𝑦 = 0,  

𝑦(2) = −3, 𝑦′(2) = −5 

2. 10pt 

𝐿−1 {
6𝑠 + 7

2𝑠2 + 4𝑠 + 10
}      

8. 10pt 

𝐿−1 {
2

𝑠2 +
𝑠
3

} 

3. 5pt 

L{10𝑒−3𝑡  −  5t + 8 } 

9. 10pt 

𝑦" + 4𝑦′ + 6𝑦 = 1 + 𝑒−𝑡 ,  

𝑦(0) = 0, 𝑦′(0) = 0 

4. 10pt 

𝐿−1 {
0.2𝑠 +  1.4

𝑠2 + 1.96
} 

10. 10pt 

𝐿−1 {
5𝑠

(𝑠 − 2)2
} 

5. 10pt 

𝐿−1 {
11 − 𝑠

𝑠2 − 2𝑠 − 3
} 

11. 10pt 

𝐿−1
1

𝑠3 + 𝑠
 

 

𝑥2𝑦" = 𝐷𝑡(𝐷𝑡 − 1)𝑦 

𝑥3𝑦"′ = 𝐷𝑡(𝐷𝑡 − 1)(𝐷𝑡 − 2)𝑦 

6. 10pt 

𝐿−1 {
𝑠

𝑠2 + 4𝑠 + 5
} 
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⚫ Laplace 轉換 

 

 

First Shifting Theorem, s-Shifting 

 

 

Laplace Transform of Derivatives  

 

 

 

 

 

 

 

Laplace Transform of Integral 積分轉換 

 


